10.

11.

12.

13.

14.

15.

The sun set in the

A) East () C) West

B) North () D) South

Which is the tallest animal on the earth ?

A) Giraffe () C) Camel

B) Cow () D) Elephant

242, 252, , 272. The missing number in the pattern is .

A) 252 () C) 262

B) 275 () D) 260

10+47+33

A) 82 () C) 90

B) 77 () D) 197

There are 3 oranges in each box. How many oranges will be there in 5 boxes?

A) 15 () C) 30

B) 35 () D) 25

Which one of the following is correct?

A) 7+2=9 () C) 7x2=9

B) 2x7=9 () D) 6+2=12

In 179, the face value of 7 is

A) Ones () C) Seven

B) Hundred () D) Tens
comes just after 675.

A) 672 () C) 673

B) 674 () D) 676

A book which has a collection of maps is

A) Dictionary () C) Atlas

B) Album () D) Directory

Three hundred and one can be written as

A) 31 () C) 301

B) 313 () D) 310

Ginger is a

A) Fruit () C) Stem

B) Root () D) Leaf

Plants control _ pollution .

A) all of these () C) noise

B) air () D) water

Sandstorms occur in

A) hillland () C) deserts

B) grassland () D) polar regions

Opposite of prince is
A) Princes
B) Princis

She plays cricket. her name is
A) Geet Sethi
B) Sania Mirzaa

C) Princess

D) None of these

C) Virat Kholi
D) Mithali Raj
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16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

The opposite gender of “Lion”?

A) Bull () C) Vixen
B) Lioness () D) Cow
The singular of the following “ Boxes”

A) Box () C) Wolves
B) Boy () D) Girls
Tick the correct adjective “Shresth is a naughty boy.”

A) is () C) boy

B) Shresth () D) naughty
Tick the correct pronoun “ Della is very honest. She never tells a lie.”
A) never () C) She

B) Honest () D) Very
Fill in the blanks with correct word “I go to to study.”
A) temple () C) market
B) hospital () D) school
Which of the following is lowest ?

A) 567 () C) 345

B) 123 () D) 321
Product of 8 and 9 is?

A) 47 () C) 72

B) 71 () D) 54
What is the missing number? 6+ _ =9

A) 1 () C) 2

B) 3 () D) 4
Length of two ribbons are 7m 47cm and 2m 52cm total length of both ribbons’ is?
A) 8m 88 cm () C) 9m 99 cm
B) 7m 77 cm () D) 9m 55 cm
What is the difference between two place value of 7 in 707 ?

A) 396 () C) 700

B) 693 () D) 691
Snake have only lung .

A) one () C) two

B) three () D) none
Which cereal used in making chapattis?

A) Rice () C) Pulse

B) Wheat () D) Milk

One who cut our hair ?

A) Doctor () C) Carpenter
B) Barber () D) Cricketer
Which vegetable are a rich source of vitamin C ?

A) Tomato () C) Potato
B) Onion () D) Peas
Name a plant who grow under the ground ?

A) Brinjal () C) Cabbage
B) Pea () D) Carrot
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

Which is the name of the largest fish in the world ?

A) Whale
B) Star Fish

It helps us to think and act?
A) Hands
B) Brain

Who wrote the national anthem “Jan gan Man ....."?

A) Sir Edmund Hillary
B) Rabindra nath Tagore

On which day children celebrate the teacher’s day?

A) 2" October
B) 14™ November

The capital of India is?
A) Kolkata
B) U.P

Our national flower is?
A) Rose
B) Lily

How many colors are in our national flag?

A) 2
B) 4

()
()

()
()

()
()

()
()

—~
~— —

()
()

()
()

Largest bird which lays biggest eggs?

A) Crow
B) Pigeon

The Sky is ?
A) black
B) white

Find 2+3+4+5=7?
A) 11
B) 13

Find 47-9= 2
A) 37
B) 39

Find 72 +9...?
A) 7
B) 9

The worship place of Hindu is
A) Temple
B) Church

Rice can be eaten as ?
A) Row
B) Both of them

How many colours in a rainbow?
A) Seven
B) Six

()
()

—~
~——

C) Dolphin
D) None of these

C) Kidneys
D) Stomach

C) Mother Teresa
D) Nelson Mandela

D) 5% September
D) 15" August

C) New Delhi
D) Goa

C) Lotus
D) Jasmin

C) Ostrich
D) Parrot

C) blue
D) red

C) 12
D) 14

C) 38
D) 40

C)8
D) 12

C) Mosque
D) Gurudwara

C) Cooked
D) None of these

C) Four
D) Nine
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46.

47.

48.

49.

50.

51.

52.

53.

54,

55.

56.

57.

58.

59.

60.

How many months in a year ?

C) Nine
D) Five

C) 45
D) 47

C) Thirty one
D) Twenty Nine

C) Nose
D) Lip

C) fruit
D) machine

C) Narender Modi
D) Pratibha patil

C) 46
D) 60

C) Number itself
D) number before

C) Eid
D) Independence Day

C) 9.50
D) 9.20

C) Keyboard
D) Cpu

C) Footpath
D) Bus

C) 15 August
D) 2 October

C) Love

A) Eight ()
B) Twelve ()
9 X 5is?

A) 44 ()
B) 46 ()
How many teeth does an adult have?
A) Thirty ()
B) Thirty two ()
Which is the strongest muscle in our body ?
A) Tongue ()
B) Ears ()
Computerisa_ .

A) Toy ()
B) ball ()
Who is the prime minister of india ?

A) Rahul Gandhi ()
B) Soniya Gandhi ()
The place value of 4 in 460 is?

A) 40 ()
B) 400 ()
When zero is subtracted from number the difference will be?
A) O ()
B) Number after ()
Which is the festival of Colours ?

A) Diwali ()
B) Holi ()
Nine rupees and five paisa is same as?
A) 9.15 ()
B) 9.05 ()
Which is not a part of Computer ?

A) Mouse ()
B) Black Board ()
We should always Play on the?

A) Road ()
B) Playground ()
When we celebrate Independence Day ?
A) 26 January ()
B) 5 September ()
What does the flag stand for ?

A) Country ()
B) Peace ()

Who invented the telephone ?
A) Neil Armstrong
B) Thomas Elva Edison

—~
~— —

D) Hope

C) Yuri Gagarin
D) Graham bell
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

your hands before you eat something.

A) Wash
B) Brush

is our national game.

A) Cricket
B) Bedminton

The baby of dog is called

A) Puppy
B) Calf

Father of our nation is
A) Rajiv Gandhi
B) Indira Gandhi

Ganesh Chaturthi is celebrated in
A) Delhi
B) Gujrat

What comes before 87 ?
A) 84
B) 86

Write the sum of the 600+60+9 =
A) 669
B) 689

Name of the vowel:- A_|__U?
A) BN
B) CD

Birds help them to fly .
A) Wings
B) Beak

Monday comes after ?
A) Friday
B) Saturday

Who is chief Minister of Bihar ?
A) Arvind kejriwal
B) Nitiesh kumar

A dish from Sikkim is
A) Sandesh
B) Appam

Republic day celebrated on
A) 26 January
B) 15 August

How many bones in our body ?
A) 200
B) 206

(
(

(
(

)
)

)
)

Who is the first prime minister of India ?

A) Jawaharlal Nehru
B) Dr Rajendra Prasad

(
(

)
)

C) Hit
D) Smart

C) Hockey
D) Kho-kho

C) Kitten
D) Tadpole

C) Mahatma Gandhi
D) Rahul Gandhi

C) Uttar Pradesh
D) Maharashtra

C) 85
D) 88

C) 679
D) 690

C) EO
D) EF

C) Feet
D) Fur

C) Sunday
D) Wednesday

C) Akhilesh yadav
D) Mulayam Singh Yadav

C) Momos
D) Idli Sambher

C) 14 November
D) 2 October

C) 208
D) 207

C) Mahatma Gandhi
D) Narendra Modi



76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

How many sense organs in our body ?

A) 4 ()
B) 6 ()
The Capital of Goa is .

A) Lucknow ()
B) Panaji ()
What is our national sweet ?

A) Rasogulla ()
B) Kalakand ()
Who is the president of India ?

A) Pranav Mukherjee ()
B) A.P.J. Abdul Kalam ()
How many sides does an Square have ?
A) 3 ()
B) 5 ()
What is CPU ?

A) Keyboard
B) Mother Board

—~
~— —

Tick the Road transport .

A) Truck ()
B) Yatch ()
Which is the fastest means of communication ?
A) Telegram ()
B) Phone ()
Golden temple situated in .

A) Delhi ()
B) Jaipur ()
Sunlight is a energy source.
A) water ()
B) mechanical ()

Tick the opposite of Heavy

A) Bad ()

B) Full ()
33x16= ?

A) 528 ()

B) 690 ()
Tick the correct plural “fox”?

A) foxs ()

B) foxen ()
Tick the correct verb in “ Ram is a good boy.”
A) Ram ()

B) good ()
What is the missing number 0 + =197
A) 0 ()

B) 18 ()

C) 5
D) 7

C) Patna
D) Jaipur

C) Jalabi
D) Barfi

C) Pratibha Singh Patil
D) Ram Nath Kovind

C) 4
D) 6

C) Central Processing Unit
D) None of above

C) Airplane
D) Air bus

C) Letter
D) Postcard

C) Amritsar
D) Patna

C) solar
D) none of these

C) Light
D) Smart

C) 628
D) 698

C) foxes
D) none of these

C) is
D) boy

C) 17
D) 19
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